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y2 + ( 8 - x )2  =  121
y2 + x2  =  81
64 - 16x  =  40
x  =  1.5

Left lower angle  =  arccos (6.5/11)  =  53.7784°
Righ lower angle = arccos(1.5/9)   =  80.4059°
Top angle = 180 - 53.7784 - 80.4059  =  45.8157°

Side                  λ’            Distance on Graph
 8 1.5265 15.265 cm
 9 1.2346 12.346 cm  
 11 0.8264 8.264 cm

  8.264 cm 12.346 cm 15.625 cm

45 .8° 80.4°

Center:  13.194 cm
Radius:  5.029 cm

λ'

 8.166 cm 18.223 cm

  

-118.90°

80.28°

-11.37°

8.264 cm 12.346 cm 15.625 cm

r

a

b 

4.082 cm 3.279 cm

θ
126.2°

a / r  =  cos (126.222° - θ)  =  cos 126.222° cos θ  +  sin 126.222° sin θ
b / r  =  cos θ 

so  a / b  = cos 126.222°  +  sin 126.222° tan θ   and hence    tan θ  =  ( a/b  -  cos 126.222°) / 
sin 126.222°

2 a  =  3.279 cm / cos 9.594°  =  3.325 cm 
2 b   =  4.082 cm / cos 44.184°  =  5.692 cm

so a / b  =  0.5842   and  θ  =  55.5297°   from which we see that  r  =  5.692 / 2 cos 55.5297  =  
5.029  cm 

the circle’s center will be at a distance  of  12.346 + 4.713 cos ( 180 - (44.184 + 55.5297))  
=13.194 cm       
and   λ1

’  will be at a distance of 8.166 cm  and 
  λ2

’  will be at a distance of  18.223 cm.

44.2° 9.6°


